VIl — paspeg, PELLEHA 3ALATAKA
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. (5x —4)(5x + 4) = 25x% — 16

(éx— 6) (§x+ 6) =2x2 36

(2,6x — 5,4)(2,6x + 5,4) = 6,76x% — 29,16
(\/§ — 5x)(x/§+ Sx) =5 — 25x2

(gx — Z,Sy) (gx + 2,5y) = %xz —6,25y?
3v8x — 1,1y)(3v8x + 1,1y) = 72x2 — 1,21y?
( y y y
Cy-21x) Gy +21x) = 2y2 — 44122

25x%2 —49 = (5x —7)(5x + 7)

49 (7 7
22121 = (Ex - 11) (Ex + 11)
0,0064x? — 25y? = (0,08x — 5y)(0,08x + 5y)

%xz —0,81y2 = Gx _ o'gy) (gx + O,9y)

0,000256x2 — 0.36y2 = (0,016x — 0,6y)(0,016x + 0,6y)
16 g 12 30 _ (4,46 _r,15)(%.4,.6 15
=X a 25y —(Sxa S5y )(Sxa + 5y )

5

4x% + 12xy + 9y? = (2x + 3y)?
49x2 —70x + 25 = (7x — 5)?

64x? — 144xy + 81y? = (8x — 9y)?
25y% 4+ 70xy + 49y2 = (5y + 7y)?
25 5 35 49 5 (57 \?
TV -+ Ty = (- 9)
(2—-5x)? =4 —20x + 25x2

(2x + 7y)? = 4x? + 28xy + 49y?
(3x — 4y)? = 9x? — 24xy + 16y?

3 2 9 5, 09 2
(Zx+3y) =X +Exy+9y
(2v3x — 3y)" = 12x% — 12v3xy + 9y?
1 2 1
(——3x) =-—3x + 9x?
2 4
(3v3 — 2v2x)" = 27 — 126x + 8x2

10x3y3z — 25x%yz% = 5x3yz(2y? — 5x22%)
12x3y3 — 16x1%yz5 = 4x3y(3y? — 4x°2%)

3. —27xy3z —36x%yz? = —9xyz(3y? + 4xz)

rpyna: A



